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1,492,606| 1,451,338 97.294 1,444,127 99.5% 404,694 27.994 6,348,744 437.4] 1,485,591 99.8
290,693 280,947 96.6% 276,979 98.6% 80,199 28.59 570,958 203.2 293,016 101.8
178,955 173,772 97.1% 175,324 100.99 44,979 25.9% 502,650 289.3 174,936 99.7
199,297 196,628 98.7% 198,863 101.19 46,709 23.8% 173,923 88.5 217,254 111.3
57,990 53,747 92.7% 52,845 98.3% 18,833 35.0% 25,320 47.1 51,267 88.4
116,818 116,611 99.8% 114,573 98.3% 29,506 25.394 1,003,475 860.5 121,738 102.8
53,509 55,012 102.89 56,043 101.99 13,790 25.1% 284,313 516.8 85,053 154.3
149,702 143,857 96.1% 141,322 98.2% 41,912 29.1% 297,100 206.5 143,789 95.7
53,971 53,004 98.2% 50,450 95.2% 15,080 28.5% 457,720 863.6 44,567 81.1
41,127 38,349 93.2% 37,714 98.3% 13,249 34.59 50,480 131.6 37,910 92.2
35,927 34,730 96.7% 35,913 103.49 11,247 32.4% 29,247 84.2 47,795 131.4
29,839 28,630 95.99% 28,647 100.19 9,433 32.9% 113,102 395.0 22,270 74.2
152,387 149,487 98.19 154,999 103.7Y 39,122 26.294 1,650,275 1,104.0 149,071 97.0
66,261 64,550 97.4% 62,108 96.2% 17,583 27.29 557,571 863.8 56,076 83.9
1,274,089 1,239,837 97.39%4 1,230,781 99.3% 342,520 27.694 4,065,859 327.9] 1,295,671 102.1
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